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Name: __________________________________



1
Given [image: image1.png]Tx+ 2258



, which number is not in the solution set?

	1)
	6

	2)
	8

	3)
	10

	4)
	12



2
Which value would be a solution for x in the inequality [image: image2.png]47-4x <7



?

	1)
	[image: image3.png]-13





	2)
	[image: image4.png]-10





	3)
	10

	4)
	11



3
Given the set [image: image5.png]{x|-2 =x =2 where x1is aninteger}



, what is the solution of  [image: image6.png]-2(x—5) < 10



?

	1)
	[image: image7.png]0,1,2





	2)
	1, 2

	3)
	[image: image8.png]-2,-1,0





	4)
	[image: image9.png]






4
Determine the smallest integer that makes [image: image10.png]-3 x+7-5x <15



 true.

5
Solve the inequality below to determine and state the smallest possible value for x in the solution set.

[image: image11.png]3x+3)=5x-3





6
Given [image: image12.png]2x+ax—-T>-12



, determine the largest integer value of a when [image: image13.png]


.

7
Solve for x algebraically:  [image: image14.png]Tx—3(4x-8) < fx+ 12-9x






If x is a number in the interval [image: image15.png]


, state all integers that satisfy the given inequality.  Explain how you determined these values.


1
ANS:
1

[image: image16.png]Tx+2258
Txz 56

x28




REF:
012003ai

2
ANS:
4

[image: image17.png]AT-4x <7
~4x <40
x> 10




REF:
061713ai

3
ANS:
2

[image: image18.png]~2{x=5) <10
x-55-5
x50




REF:
011817ai

4
ANS:


[image: image19.png]-3x+7-5x <15
-8x <8

x5



  0 is the smallest integer.
REF:
061530ai

5
ANS:


6. [image: image20.png]3x+9<5x-3
122

65x




REF:
081430ai

6
ANS:


[image: image21.png]-1 +al-1)-7>-12
—a-9>-12
—a»-3

a<3



  [image: image22.png]



REF:
061427ai

7
ANS:


[image: image23.png]Tx=3(4x-8) = fx+ 12- 02
Tx- 125+ 24 S-3x+ 12
—Sr+24 -3+ 12
1252

65x



  6, 7, 8 are the numbers greater than or equal to 6 in the interval.
REF:
081534ai
